Class Notes

Class: VI Topic: Revision Worksheet

Subject: ENGLISH

I -ction A-Grammer I

Q.1 Read the following passage carefully and answer the questions that follow:

Udham Singh’s name is linked inseparably with Jallianwala Bagh, because he was the man who took
his revenge on General O’Dwyer, the British officer who had ordered firing on a peaceful gathering at
Amritsar on a Baisakhi Day. Thousands of men, women, children and old men died in the massacre.
Many tried to escape by jumping into a nearby well but were suffocated to death. Udham Singh
waited for 21 years to avenge this national insult. He killed the villain of the show in England on 13
March 1940. Udham Singh was arrested and sentenced to death on 30 July, the same year.

For Udham Singh, the Jallianwala Bagh massacre was a national outrage and ought to have been
avenged, so he pledged to take his revenge. In 1937, he reached England after travelling through Europe.
In London, he shot General O’Dwyer at a point-blank range in full view of a large gathering.

Udham Singh was deeply influenced by the activities of Bhagat Singh and his revolutionary group. In
1935, when he was on a visit to Kashmlr, he was found carrying Bhagat Singh's portrait. He
invariably referred to him as his guru. He loved to sing political songs, and was very fond of Ram
Prasad Bismal, who was the leading poet of the revolutionaries. Udham Singh was all for the unity
and solidarity of the country. His life bears a lesson for all those who are propagating divisive ideas in
the name of religion.

1)Who was General O’Dwyer ?
i) What is linked with Udham Singh’s name ?
iii) Who all have lost their lives in Jallianwala Bagh massacre ?

iv)Who has influenced Udham Singh ?

v) Write the antonym of separable from the above passage .

vi)Give one word from the passage which means same as “a serious promise of agreement”.

Q.2a Rearrange the given words and phrases to form meaningful sentences.

I inventions/our life/easier/made/many/have

Il.  own/identity/inculcate/while/good/your/retaining/qualities
I1l.  an identity/one’s/recognizing/and/lead to/talent/can/developing

Q.2b . There is one error in each sentence. Write the incorrect word and correct one against the
question number.
Incorrect Correct

a)l had to went out despite the




b)Heavy rain outside to got some medicine.
c)Although the symptoms was not as
d)Pronounced as they were at the morning,
e)the doctor had instructs me to

f)be regular with mine dosage.

Q.3 Fill in the blanks with appropriate modals:

1) Take an umbrella. It rain later. (should/might)

2) | speak Japanese, Chinese and Spanish. (can/will)

3) Drivers stop when the traffic lights are red. (must/may)

4) Since our bags are identical, you have taken mine by mistake. (can/could)

5) Do you think we tell them? (Should/would)

6) __ I borrow this pen from you? (may/might)

7) According to the weather forecast, it ___ snow heavily tomorrow. (may/shall)

8) My mother _ scold me if I don’t go back on time. (will/may)

9) The child __ be taken to hospital immediately. (must/might)

10) Leonard easily solve the problem. (can/may)

Q 4. Fillin the blanks with present perfect tense form of the verbs given in the bracket:

1) The train just now. (arrive)

2) | not the cinema all these years. (visit)
3) Someone some crockery. (break)

4) 1 never the Taj. (see)

5) | not him so far. (meet)

6) | not the work even now. (finish)

7) My friend his purse. (lose)

8) They my pen. (take)

9) Birds from here. (fly)

10) Rachna food. (cook)




Q.5 Fill in the following blanks with the Past Perfect Tense of the verbs given in brackets:

1) Mohan ........... already ........... his breakfast. (take)

2) Ifshe........... for the examination , she would not have failed. (prepare)

3) Thebell ........... before I reached the school. (go)

4) The patient ........... before the doctor arrived. (die)

5) She........... not ........... the place before her husband permitted her. (leave)
6) ..ooon.... the child ........ before his mother returned from office? (sleep)

7) Therain ........... when we stepped out of our house. (stop)

8) Ifyou.............. her, she would have got first division. (help)

9) The cinema show .............. when I reached the hall. (start)

10)Ifshe .............. a bus, she would have caught the train. (board)

Q.6 State whether the underlined part in each sentence is a phrase or a clause:

1) 1saw a man waiting for the bus.

2) | see no point in arguing with him.

3) When I went to his home, | saw him working in his garage.
4) 1saw a girl carrying a basket on her head.

5) He jumped into the river to save the drowning boy.

6) | asked him if he knew where the railway station was.

7) It took me 30 minutes to get ready for office.

8) As he was in a hurry, he didn’t each much food.

9) They encouraged him to make another attempt.

10) | was pleasantly surprised to hear the news of her engagement

Q.7 Transform the following sentences into the type given in the bracket without changing
the meaning:

1. The man is too honest.(Exclamatory)

2. Did he return your book?(Assertive)

3. What a beautiful garden it was!( Assertive)
4. He has gone to Paris.(Interrogative)

5. The cat is after the mouse.(Interrogative)

6. Little Jonny is too smart.(Exclamatory)

7. The view was beautiful.(Interrogative)

8. It was a very tricky sum.(Exclamatory)

9. Has he given his verdict?(Assertive)

10. The train waited at the station.(Interrogative)

Section B-Literature

Choose the correct option-

1)Sate the literary device used in the line, “Making ten in a row”.

a) Assonance




b) Consonance
¢) Personification

2) Sate the literary device used in the line, “No grime or dust, smoke or smog,”.

a) Assonance
b) Consonance
c) Personification

3) What is the Rhyme scheme of the poem- If | were an Astronaut?

N
a) AABB | || /;
b) AAAB | /

4)What was the code for the locked chest?
a) 340910 N
b) 400000 -

c) 123456

5)Who arrested Vishwanath?
a) Mr. Majumdar
b) Mr. Sarkar
c) Feluda

6) was hailed as the Wizard of Hockey.
a) PV Sindhu

b) Dhyan Chand

c)Aunt Anika

7) Who said the following line

“If you crack the code, I’ll give you the whole set by Gaboriau”?
a) Mr. Majumdar
b) Mr. Sarkar
c) Feluda

8)Aunt Anika was a
a) sports enthusiast
b) table tennis player
c) football player

9) teaches the wolf cubs the law of the jungle.
a) Raju
b) Baloo
c) Akela

11) Daffodils is written by
a) William Morris




b) William Wordsworth
¢) William Worseworth

12)Mangalyaan mission was approved by the government in

a) 2001
b) 2023
c) None of these

13)Sate the literary device used in the line, “my mind is one with the light”.
a) Assonance
b) Consonance
c) Personification

14)Who told Feluda that Viswanath had killed his father?
a) Mr. Majumdar
b) Mr. Sarkar
c) Gokul

15)A community of plants and animals in a particular area is called
a) Deforestation
b) Ecosystem
c) Biodiversity
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CLASS Notes

Class: VI

Topic: WORKSHEET

Subject: Mathematics

Choose the correct option:

(@)

(b)

(©)

(d)

(e)

(f)

If the numerator and denominator of a fraction are equal, then the fraction:
()isequal to 1

(ii) is less than 1

(iii) is equal to O

(iv) is greater than 1

If 2 = then find the numerator :
4 24

(4

(i) 6

(iii) 12

(iv) 18

The decimal form of T:o x 8=

(i) 0.8

(ii) 8.00
(iii) 800
(iv) 0.08

The length of a young gram plant is 65mm, its length in cm will be
i)6.5cm

ii) 0.65cm

iii) 0.065cm

iv) 6.05 cm.

Which one of the following is not true
i) 1.431 <1.490

i) 3.3 >3.300

iii) 0.3<04

iv)3>0.8

Akash bought vegetables weighing 10kg.Out of this 3kg 500g is onions, 2kg 75g is
tomatoes and the rest is potatoes. What is the weight of the potatoes?

i) 9.500kg

i) 1.425kg

iii) 5.575kg

iv) 4.425kg




(9) Apala went to a park 20 m long and 10 m wide. She took one complete round of it. The
distance covered by her is

(i)30m
(ii) 60 m
(iii) 20 m
(iv)10 m

(h) The perimeter of the given figure is

1cm
2cm 2cm
2cm 2cm
1icm icm
2cm 2cm
2cm 2cm
icm
(i) 5cm
(ii) 10 cm
(iii) 15 cm
(iv) 20 cm.

(i) There are 30 boys and 20 girls in a class. The ratio of the number of girls to the number of boys is

(i) 2:3
(i) 3:2
(iii) 2:5
(iv) 3:5

(i) The length and breadth of a rectangular park are 50 m and 40 m respectively. Find the ratio of the
length to the breadth of the park.

(i) 4:5
(i) 4:1
(iii) 5:1
(iv) 5:4
(k) The area of a rectangle is 40 cm?. If its breadth is 4 cm, then its length is:
(1) 20 cm
(i) 30 cm
(iii) 10 cm
(iv) None of these


https://www.evidyarthi.in/wp-content/uploads/2020/09/50191350962_e13338d775_o.jpg

Solve the following questions:

1. Kavita has 44 cassettes. She gives % of them to Sonia. How many does Sonia get? How many
does Kavita keep?

2. If 3% m of wire is cut from a piece of 10 m long wire, how much of wire is left?
3. Kavita travelled 267.97km and Sheena travelled 862.73km using their own cars. Who travelled
the most and by how much?
4.  Express the following as cm using decimals.
(@ 2mm
(b) 30 mm
(c) 116 mm
6. Find the sum in each of the following:
(a) 0.007 + 8.5 + 30.08
(b) 15 +0.632 + 13.8
7. A piece of string is 48cm long. What will be the length of each side if the string is used to form:

(a) A square?
(b) An equilateral triangle?
(c) A regular hexagon?

8. The length and breadth of the three rectangles are as given below:

@9mand6 m
(b) 17 mand 3 m
(c)4mand 14 m
Which one has the largest area, and which one has the smallest?

9. Bhola and Raju bought one field each with dimensions 50m by 40m and 100m by 30m. They
purchased the land at the rate of Rs. 500 per square metre. Who paid more and by how much?

10. Ramesh deposited X 2050 in a bank and in the month of January he withdrew X 410 from his account
on the last date of the month. Find the ratio of
(@) Money withdrawn to the total money deposited.
(b) Money withdrawn to the remaining amount in the bank.
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Class: VI Topic:

Subject: Sanskrit
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Class Notes

Class: VI

Subject: Science o

Topic: Practice worksheet
Chapters:

Electricity and circuits
Fun with magnets

A. Choose the correct answer

Q1. Which of the following is a conductor?
(a) Glass

(b) Steel

(c) Air

(d) Paper

Q2 The closed path in which the current flows is called
(a) current

(b) conductor

(c) circuit

(d) bulb

Q3 A filament is used in a:
(a) bulb

(b) battery

(c) cell

(d) switch

Q4 The insulating material on electric wires can be:
(a) aluminium

(b) copper

(c) enamel

(d) plastic

Q5 An ordinary cell has a:
(a) copper rod

(b) carbon rod

(c) zinc can




(d) plastic cap

Q6. North pole of a magnet can be identified by

a) another magnet having its poles marked as north and south pole
b) another magnet no matter whether the poles are marked or not

C) using an iron bar
d) using iron filings

B. Match the following:

IAI

1. Current

a. Converts chemical energy into electric
energy

2. Conductor

b. Conductor

3. Insulator

¢. Microwave oven

4. Wood

d. Flow of charge

5. Aluminium

e. Wrist watch

6. Cell

f. Electricity can pass through it

7. Button cell

g. Insulator

8. Electric appliance

h. Electricity cannot pass through it

C Think of six activities which use electric current. Also, name the devices used to perform the

activity.
Example:
Activity you perform Device
Get light Torch




C. How will you test whether a sample of ‘tea dust’ is adulterated with iron powder or not? Describe.

D. Fill in the blanks:

a. An electric cell has -------------- terminals.

b. Materials which are not attracted by magnets are called ------------- materials.
C. -mmmmmmmmmmmmmee is used to find direction at a place.

d. Like poles -------------- each other.

e. Metals are -------------- of electricity.

E. Answer the following questions:
a. What is the difference between open and closed circuit?
b. Imagine there were no electric supply for a month. How would that affect your day to day
activities and others in your family?
c. Isdistilled water a conductor of electricity? Why?

d. Suggest an arrangement to store horse shoe magnet. How is this different from storing a pair
of bar magnets?

e. Describe an experiment to make your own magnetic compass.




CLASS NOTES

Class: VI Topic:

Ch.6 New questions and ideas

Subject: Social science Ch.7. From a kingdom to an empire.

Ch.8. Villages, towns and traders.

History: Ch.6 New questions and ideas

Multiple choice questions:

1.

What was the early name of Buddha?

A. Mahavira
B. Siddhartha
C. Gautam

D. Ashoka

2.Where did Buddha attain enlightenment?

A. Kushinara

B. Sarnath

C. Varanasi

D. Bodhgaya

3. Vardhamana mahavira was the____ thrithakara of jains.

A. 21

B. 24

C. 30

D. 20

4. The Prakrit spoken in Magadha was known as

A. Prakrit

B. Magadhi

C. Awadhi

D. Sanskrit

5. Which of the following is the correct sequence of the four different stages of life ?
A. Grihastha, Brahmacharya, Vanaprastha and Samnyasa
B. Brahmacharya, Grihastha, Vanaprastha and Samnyasa
C. Grihastha, Brahmacharya, Vanaprastha and Samnyasa
D. Vanaprastha, Brahmacharya, Grihastha and Samnyasa

6. What is the literal meaning of the word ‘Upanishad’?

A. approaching and sitting near the teacher

B. approaching and sitting near the God

C. approaching and sitting near the students

D. approaching and sitting near the parents

7. The stage of life of Hindus when they have to marry and live as householders:

A. Vanaprastha

B. Grihastha

C. Brahmacharya

D. Kshatriya

Il. Name the following

Buddha belonged to a small Gana known as
The tree under which Buddha meditated for several days and attained enlightenment.
The grammarian who made formulas for Sanskrit.




iv. Buddha was approached by a woman to bring back the life of her deceased son. What was the
name of the lady.
V. Place where Gautama Buddha passed away.

Fill in the blanks:

i. In language Buddha gave his teachings to the ordinary people.
iii. The earliest viharas were made up of and

iii. Vinaya pitaka is a sacred book text of

iv. The Universal soul has been referred as

V. Jainism was primarily supported by .

vi. Satyakama Jabala was the son of a

Picture based questions

Look at the pictures and answer the following questions:

i. Identify the picture.
ii. Where is it situated?

i Identify the picturé.
iii. Why were they built?

Ch.7. From a kingdom to an empire.

i The Rampurva Bull is noted for its delicately sculpted model demonstrating
superior representation of soft flesh, sensitive nostrils, alert ears and strong legs. It
belongs to which dynasty? At present, where it has been placed?

A Gupta dynasty; Rampurva, Bihar.

B Mauryan Dynasty; Rashtrapati Bhawan, Delhi.
C Mauryan Dynasty; Rampurva, Bihar.

D Gupta Dynasty; Sarnath, Uttar Pradesh.




3. Choose the correct chronological order of the Mauryan Rulers.
A Ashoka, Bindusara, Chandragupta Maurya
B Chandragupta Maurya, Ashoka, Bindusara
C Bindusara, Ashoka, Chandragupta Maurya
D Chandragupta Maurya, Bindusara, Ashoka

Who was sent to the court of Chandragupta as an ambassador by the Greek ruler
of West Asia, Seleucus Nicator?

A Megasthenese

B Xuan Zang

C Chanakya

D Bindusara

5. The title translates as "the science of wealth” but the book has a broader scope. It
includes books on the nature of government, law, civil and criminal court

systems etc. The ideas of Kautilya were written in this book; choose the correct
name of the book from the given options?

A Ramayana

B Mahabharata

C Panchtantra

D Arthashastra

6. A Mahamatta was an "officer of morality" established by the Indian Emperor
Ashoka. Their full title was Dhamma Mahamatta, the "Inspectors of the Dharma”.
What was the duty of Dhamma Mahamatta?

A Went place to place for teaching people about Dhamma

B To collect taxes

C To punish the people who violated rules

D To award the people who are gentle.

7.What did Ashoka do after the war in Kalinga was over?

A Ashoka stopped wars of aggression and felt guilty about his actions.

B He continued wars of aggression in Southern India and conquered all of the
forest tribes.

C Ashoka allowed the Kalingans to rule over them as long as they paid taxes.
D Ashoka forced the remaining Kalingans to be slaves in the Mauryan Empire.

Identify the place marked (a) on physical map of India. It was a provincial capital
under Mauryan rule and also gateway to the northwest




The Lion Capital of Ashoka is a sculpture of four Indian lions standing back to back, on a decorative base,
and we can see it on Indian currency notes. It was originally placed atop the Ashoka pillar at an important
Buddhist site. Identify the site (b)?

Picture based

Identify the finely polished stone sculpture excavated from Bihar .Where it has been placed now?




" In which language were the Ashoka’s inscriptions written?

Match the column

Column A Column B
i.Founder of Mauryan empire a.Script
ii.Provincial capital b.Pataliputra
iii.Empire’s capital c.Chandragupta Maurya
iv.Ancient name of coastal Odisha d.Taxila
v.Kautilya e.Kalinga
vi.Brahmi f.Arthashastra

Ch.8. Villages, towns and traders.

Multiple Choice Questions

1.The use of iron began in India around years ago.
a)2000 yrs

b)3000 yrs

c)4000yrs

d)5000yrs

2.Vellalar was the term used for
a)Large farmers

b)small farmers

c)large landowners

d)common people

3.The landless labourers were known as
a)adimai

b)uzhavar

c)vellalar

d)kadaisiyar

4.The independent farmers were known as
a)grambhojka

b)grihapatis

c)karmakara

d)none of these

5.The stories that were composed and preserved by Buddhist monks were known as
a)Panchtantra
b)Jatakas




c)Ramayanas
d)None of these

6.The earlier coins were made of the punched metal of
a)silver

b)copper

c)Gold

d)bothaand b

7.Mathura was the second capital of the
a)Mauryas

b)Kushanas

c)Guptas

d)None of these

Fill in the blanks.

1. was a coastal settlement where ships unloaded goods from distant lands
2.Stamped red-glazed pottery was known as ware.

3. literature was popular in Tamil Nadu.

4. was an association of craftspersons and merchants.

5.Barygaza is the Greek name of

6.Ring wells were used as or

Picture based question

Identify the following iron tools . Write about the uses of these tools.

A.







